



11069 "I" Street
Omaha, NE 68137

Invoice

Date	Invoice #
3/14/2011	A11-0208

402-593-8100

Bill To
City of La Vista Mr. John Kottman 9900 Portal Road La Vista, NE 68128

	P.O. No.	Terms	Client Accou...	Project
	P101116	Due on receipt		101202
Quantity	Description		Rate	Amount
	ENVIRONMENTAL PRE-DEMOLITION INSPECTION SERVICES Thompson Creek Project La Vista, NE			
1	PROJECT #101202 (7205 PARK VIEW BLVD) Residential Home Inspection, Testing and Report of Findings		450.00	450.00
10	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal		7.00	70.00
	520.00			
1	PROJECT #101203 (7301 PARK VIEW BLVD) Residential Home Inspection, Testing and Report of Findings		450.00	450.00
1	Lab Analysis of one Additional Bulk Sample for Asbestos Fibers Subtotal		7.00	7.00
	457.00			
1	PROJECT #101204 (7405 PARK VIEW BLVD) Residential Home Inspection, Testing, and Report of Findings		450.00	450.00
			Total	

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.



11069 "I" Street
Omaha, NE 68137

402-593-8100

Invoice

Date	Invoice #
3/14/2011	A11-0208

Bill To

City of La Vista
Mr. John Kottman
9900 Portal Road
La Vista, NE 68128

P.O. No.	Terms	Client Accou...	Project
P101116	Due on receipt		101202

Quantity	Description	Rate	Amount
9	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	63.00 513.00
1	PROJECT #101205 (7601 SOUTH 73RD STREET)		
1	Residential Home Inspection, Testing, and Report of Findings	450.00	450.00
12	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	84.00 534.00
1	PROJECT #101206 (7548 VALLEY ROAD)		
1	Residential Home Inspection, Testing and Report of Findings	450.00	450.00
4	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	28.00 478.00
1	PROJECT # 101207 (7602 VALLEY ROAD)		
1	Residential Home Inspection, Testing and Report of Findings	450.00	450.00
		Total	

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.



11069 "I" Street
Omaha, NE 68137

402-593-8100

Invoice

Date	Invoice #
3/14/2011	A11-0208

Bill To

City of La Vista
Mr. John Kottman
9900 Portal Road
La Vista, NE 68128

P.O. No.	Terms	Client Accou...	Project
P101116	Due on receipt		101202

Quantity	Description	Rate	Amount
13	Lab Analysis of Additional Bulk Samples for Asbestos Fibers	7.00	91.00
	Subtotal		541.00
1	PROJECT #111024 (7201 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
10	Lab Analysis of Additional Bulk Samples for Asbestos Fibers	7.00	70.00
	Subtotal		520.00
1	PROJECT #111025 (7209 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
7	Lab Analysis of Additional Bulk Samples for Asbestos Fibers	7.00	49.00
	Subtotal		499.00
1	PROJECT #111026 (7213 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
8	Lab Analysis of Additional Bulk Samples for Asbestos Fibers	7.00	56.00
			Total

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.



11069 "I" Street
Omaha, NE 68137

402-593-8100

Invoice

Date	Invoice #
3/14/2011	A11-0208

Bill To
City of La Vista Mr. John Kottman 9900 Portal Road La Vista, NE 68128

P.O. No.	Terms	Client Accou...	Project
P101116	Due on receipt		101202

Quantity	Description	Rate	Amount
	Subtotal		506.00
1	PROJECT #111027 (7305 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
7	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	49.00
	499.00		
1	PROJECT #111028 (7309 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
8	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	56.00
	506.00		
1	PROJECT #111029 (7409 PARK VIEW) Residential Home Inspection, Testing and Report of Findings	450.00	450.00
12	Lab Analysis of Additional Bulk Samples for Asbestos Fibers Subtotal	7.00	84.00
	534.00		
		Total	

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.



11069 "I" Street
Omaha, NE 68137

402-593-8100

Bill To

City of La Vista
Mr. John Kottman
9900 Portal Road
La Vista, NE 68128

Date	Invoice #
3/14/2011	A11-0208

Invoice

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.



11069 "I" Street
Omaha, NE 68137

402-593-8100

Bill To
City of La Vista
Mr. John Kottman
9900 Portal Road
La Vista, NE 68128

FED ID # 80-0034371

A finance charge of 1.5% will be added to invoices over 30 days.

Page 6

Consent
Agenda
65, 7, 06 45.09
65, 7, 06 45.09
Sue the
3/22/11